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There remains from them, two, etc. — 9912 0 3T 1NN

Overview

The 713 concludes that in the 2°?109 of 01 and 1non there are six D71,
Two mwn7 for nnoM 01X themselves; one for the 7wn7 of »2aR, and the other
for the mw 7713 of M?N277 (which teaches us the exact amount of 0ip to be
paid by 1nom1 011X); this leaves us with two remaining Mw77. One is for 21
X7 and the other for mn>3> *2>, that they both receive 01p payment. NN
will challenge this assumption that there are sufficient 2>71%°% to teach us 2117
D1p by nnomI 01X both by mxb 217 and NNID C200m.

— NZN1a TM 0NNa 2N3 K121 1M
And one "2°1 was written in the 7w of 838 (the word 77v37)" and one

"2 was written in the ;w15 of 71D (the word m»nam)?. Those two nwAT together
teach us that there is a 03p 21 by both 1IX? *2>°17 and mMn™3 *27.

nvoIn asks:
= Mn™3 2N "1n89 ma ]'J NIN1 INNN ON1

And if you will ask; and how do we know that one M2°7 is coming to
include that NI 529977 receive 01p?! -

— NZNY TM ONXRY TM "IRY 20 ™37 11K ™07 R0'R
I can say that both of these two remaining 0112°7 are coming to include
(only) 8% 52917 (and not MIN*12 °2»n); and we require two 21277, for one is
for an o138 and the other is for a 7ne»! The two remaining 212> teach us that
both by a 0i1kn and a 715 he must pay the 01p even if the 77v1 was forbidden to him as a
XY "2, However there is no 109 to teach us that Mn*12 %21 also receive 0Ip. MOOIN is

now of the opinion that we cannot derive 7nsm1 01X from each other, concerning °23n
3
TN, etc.

madIn answers:
= TN NN9N1 ONK (1'99" 110 077107 718 89 8177 1019 M

And one can say; that for this, it is not necessary to have two 2’109 that
by o1& and 1non there is 01p for XY *2n; for we derive the rules of 1N

nnem from each other through the Y1 ;oma; if we know that minsn (for
instance) receives 01p for X7 *2»n, then we also know (through the mw 177°13) that by an

' 13,25 [Xxn] ©127 (as explained previously in 771 3"71 77 >"w).

% 10,20 [2*vown] nmw (as explained previously in 7202 7"7 *"wA).

? See following footnote # 4.

* There is the term n21n2 by 7inon and the term 77102 by oaxn. All the rules that apply to one, apply also to
the other. Originally (in the question) N1901N assumed that this w"13 is only concerning the specifics of 703
m?n27 s Mpw», which deals specifically with the amount and type of payment to be given; but not for

other issues (such as 01p 21 for 1R? *2m), which are not written explicitly in the 0°»05. However nooin
concludes that the w"73 is applicable for all matters.
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DI, she also receives 01p, even if she is PIR? *2»nn. Therefore only one 09 is necessary
to teach us 01 by 1R *2>11 for both 1nom1 01K, the other *12°7 must come to teach us that
there is 01p even by Mn>12 °21 (by both 7nNo7I ONX).

Summary
The (M>127) MW 7713 teaches us that all the rules of 7nom 01X (including

DIP 211 by Mn™3 °2»m 1IR? °2°1) can be derived from each other.

Thinking it over

mooin tells us initially that the two remaining MW7 are written by 7N571 01X
individually. It is (only) after this introduction that n1901n asks his question;
which would seem to indicate that if both M7 were either by 01 or 7non,
there would not be (such) a (strong) question. How can we explain this?!
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